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Analysis of the Flue Gas Temperature Lowering .
Methods to Avoid Slagging on Heat-transfer Surface Y.«

for Biomass Fired Boilers )

LIU Feng' LI Zhi-guang' LIANG Yao-dong” CHEN Bin’
(1. Zhiguang Boiler Research Institute Dalian 116013 Liaoning China;
2. Liaoning Shengchang Bioenergy S&T Co. Ltd.  Yingkou 115000 Liaoning China ;
3. Dalian Liishun Bioler Co. Ltd Dalian 116048 Liaoning China)

Abstract: Comprehensively compares two lowering flue gas temperature methods ( recirculation flue gas and mixing
cold air) and points out their advantages and disadvantages. It is a better way to use the method of mixing cold air for the

small capacity biomass fired boiler.
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2.2
3
2.1 10 t/h ()
o 1.
C, /% H, /% 0,/% N, /% S, % W, 1% A, 1% Vil % Qo ! (kI * kg?)
I 46.55 3.06 6.11 0.86 1.94 9.00 32.48 38.5 17 693
46.11 5.9 35.0 0.32 0.18 9.92 2.57 71.1 16 460
3.1 Vo =0) (8= 0.0.2 0.3)
(1) ( ) Il 2
I B=V
2 (- )
B
0 H m’ I 0 23 20.7 163 49.5
Il 0 — 984 769 236
0 971 766 236
0 C
0.2 — 839 684 236
0.3 788 650 236
I 0 984 769 236 162
0 766 236 164
2 0” OC
0.2 971 684 236 167
0.3 650 236 169
Il 0 — 11.56 19.5 18.8
0 12.17 20.7 19.9
3 w, m/s
’ 0.2 — 13.45 24.3 24.1
0.3 14.03 26.0 26.1
I 0 — 678 205 79
0 670 205 79
4 At C
0.2 — 565 184 79
0.3 523 175 79
Il 0 — 0.070 1 0.076 1 0.083 4
) 0 0.072 3 0.080 3 0.087
5 K kW/m” « °C
0.2 — 0.077 5 0.091 5 0.100 1
0.3 0.080 0 0.096 6 0.106 1
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2 (- )
B
Il 0 6 092 2 394 6 187 793
0 2 269 6 071 769
6 Q kJ/kg
0.2 5245 2 046 6 195 883
0.3 1955 6 220 936
I 0 80.4
. 0 84.0
7 n %
0.2 83.8
0.3 83.7
Il 0 1 609
0 1 656
8 B kg/h
0.2 1 660
0.3 1 660
DX q, =8%( 1l ) 4% )
(2) ( ) Il
I ( Aa, =0) 3.
(Aa, =0.0.31 0.5) Ac,
3 (G )
Aa,
0 H m’ I I 23 20.7 163 49.5
Il 0 1.55 1.60 1.65
0 1.55 1.60 1.65
1 o — 1.5
0.31 1.86 1.91 1.96
0.5 2.05 2.10 2.15
I 0 - 984 769 236
0 971 766 236
2 0 C
0.31 — 844 687 236
0.5 784 646 235
I 0 984 769 236 162
0 971 766 236 164
3 0" C
0.31 974 687 236 167
0.5 977 646 235 167
Il 0 — 11.56 19.5 18.8
0 12.17 20.7 19.9
4 w, m/s
’ 0.31 — 13.40 24.2 23.9
0.5 14.13 26.2 26.4
I 0 - 678 205 79
0 670 205 79
5 At C
0.31 — 569 185 79
0.5 519 173 78
Il 0 — 0.070 1 0.076 1  0.083 4
) 0 0.072 3 0.0803  0.087
6 K kW/m™ «C
0.31 — 0.077 2 0.0908 0.099 5
0.5 0.080 4 0.0971 0.107 1
I 0 6 092 2 394 6 187 793
0 5245 2 269 6 071 769
7 Q kJ/kg
0.31 5208 2 016 6 071 863
0.5 5170 1 894 6 005 907
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3 (.
Aa,
1 0 80. 4
. ) o 0 84.0
0.31 82.2
0.5 81.3
I 0 1 609
0 1 656
? B ke/h 0.31 1692
0.5 1710
P q,=8%( 1 4% ( ) o
(3) 8
2. 3 : 0.5 2.7
@ B=0 0.2.0.3 81.3% - 10 t/h
971 C 839 C 788 ; (1710 -1 656 =54 kg/h)
Aa,=0 0.31.0.5
971 °C 844 °C 784 C. @ (8=
0) . N
@
( . . . .
) ( . s
) . . . .
( ) 3.2
N ; 3.2.1
. B=V IV =0
( A ) . 0.2, 0.3 4,
4 . Pa
B
0 103 6 1047 16 687 154 _142 2 891
0.2 ~20 137 10 1 486 23 999 900 157 ~ 145 3687
0.3 154 10 1720 27 1162 157 ~146 4104
3.2.2 0.5
Aa, =0 0.31.
5 . Pa
Aa,
0 103 6 1047 16 687 154 —142 2 891
0.31 ~20 137 10 1477 23 981 900 21 ~145 3724
0.5 159 12 1744 28 1191 272 ~145 4281
3.2.3
4. 5 Aa, =0.5
D= izglxDP:O.SZDC
’ I ) 82% .
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5945 m’/h=1.65 m’/s( ) o
F=V/w=1.65/3.93=0.42 m’
4
o d =350 mm,;
o A x B =500 mm x200 mm.
3.3
VH .
N‘1ooon kw 4
V— m/s V= .
KBV  =1.1x0.3x13 151 =4 340 (D ’
m’/h=1.21 m/s v
2 1
H— Pa (2)
H=Ky(AH +AH )K, (3) ’
4 B=0.3 (<
AH =154 +10+1 720 + ’ h
10 t/h. <7 MW ) .
27 +1 162 =3 073 Pa; AH ()
=200 Pa
H =K,(AH +AH )K, =1.2x(3 073 +
200) x0.89 =3 496 Pa. ’
K_ o o
P 10 t/h
()
K - 1293 0,+273 101325 _1.293 ,
P, 200 +273 b, 1.34 ’
165 +273 101325 _ oo ’
200 +273 101 325 - 8
U/ —
0.6 ~0.7 ! : I
2009(5) : 1 -7.
' 2 )
VH  1.21 x3 496
N =000y = 1000 x0.65 = 021 kW- I 2009(6) :6 - 10.
3 . M .
3.4
2005.
4
M . : 2005.
2
5 .
Ap= P
2 J. 2004(5) 1 11 - 15 48.
Ap =20 Pa 6 6
£=2 p=1.293 kg/m’ M . : 2011.
7 . (
w=3.93 m/s 1973 ) M. : 1976.

Aa, =0.5 V=



